ASsign #1

Exponential Practice Test
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Simplify 1 - 3 below. Do not leave any negative exponents.
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Graph the following exponential functions.”Find the y-intercept. Complete the table, plot the
points and connect. Then, answer the questions for each function below the graph.
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5) f(x)=-3-2" y-intercept: -5
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Write the equation for the table below.
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7) Since January 2010, the population of the city of Brownville has grown according to the
mathematical model, y = 720,500(1.022)", where x is the number of years since January 2010.

a) Explain what the number 720,500 represents in this model.
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b) Is thi le of th'0p decay function? aﬁ(‘&vﬂf%\- [.022
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c¢) Find the growth/decay factor. E ] 22
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d) Find the growth/decay rate. Write this number as a percent. 2 ,2‘ ?a e .0l

e) What will the population be in 2021 if the growth continues at the same rate.
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8) The value of a boat is t arate of 4.5% per year. The boat was worth $57,500 when
it was purchased in 2008. ) M ET o
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a) Write the exponential function that models this situation. l %5
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b) Find the vc?lue of the boat in the year 2025.
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9) The value of a textbook is $129.00 and decreases at a rate of 15% per year.

dects — C=15% ~-.IS

a) Write the exponential function that models this situation.
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Y= 129(35)

b) Find the value of the textbook after 11 years.
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10) A painting is sold for $1800 and its value increases by 10.5% each year af‘ter itis sold. -9
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a) Write the exponential function that models this situation. =105
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b) Find the value of the painting in 20 years.



Solve the exponential equations:
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